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57. Give the following definite integrals:
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58. Find the area bounded by the following curves:
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a.) x-axis, line x =2, curve y = \/;;
b) y=e',y=e ", x=1;
c)y=e,y=e’,y=e
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e.) y =Inx; its tangent, that goes through the origin; x-axis.

d) y=x2,y=

59. The region in the a.) part of the previous exercise is revolved about the x-axis. Give the
surface area and the volume of the generated solid.

3t, y=acos3t, 0<Lr<L2x.

Give the area of the region bounded by the curve, the arc length of the curve, the surface area
and the volume of the solid, generated by revolving the curve about the x-axis.

60. The parametric equations of an astroid are x = asin

61. a.) Find the centroid of the region bounded by the curve y = sin%, 0<x<2rxz

b.) Find the volume of the solid generated by revolving the this curve about the x-axis.
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62. Find the arc length of the curve y = 3 (x —8)%? over the interval [8;16].

63. Find the centroid of the region bounded by the following curves:
a) y=3x,y=0,x=8, b) y=x2,y=9, x=0, x>0

64. Find the following improper integrals:

a.) ojox%dx, b.) z%dx, c) IZ_de, d.)];xe_zxdx,
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